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GUESS PAPER - 2007
Subject – Maths
Class - IX

Q.1 > A body is executing SHM under the action of a restoring force whose maximum magnitude is 50 N. Find the magnitude of the force acting on the particle when its potential energy is equal to its kinetic energy  

Q.2 > A ball of mass M is dropped on the floor from a height H. It undergoes elastic collision with the floor and again bounces back to the height H. Is the motion Oscillatory. Is it an SHM. In any case, find the time period of the motion of the ball


 

Q.3 > Two bodies M and N of equal mass are suspended from two separate springs of spring constants K1 and K2 respectively. If the 2 bodies oscillate vertically such that their maximum velocities are equal, find the ratio of their amplitudes.



 

Q.4 > A body performs SHM along the line MNOPS with O as the midpoint. Its K.E. at N and P is half of its peak value. If distance MQ = R, then find the distance between N and P. 

 

Q.5 > A particle is moving in a straight line. When the distance from mean position has value X1 and X2, the corresponding velocities are V1 and V2. Find the time period.



Q.6 > A body is dropped in a hole drilled across a diameter of the earth. Show that it executes SHM. Assume the earth to be a homogenous sphere and take acceleration due to gravity at a depth D is g’ = g ( 1 – D / R ). Find its time period.





Q.7 > A particle of mass 0.1 Kg is executing SHM of amplitude 0.1 m. When the particle passes through the mean position its kinetic energy is E. Obtain the equation of motion of the particle if the initial phase is 45’






Q.8  > A particle of mass 500 gm executes SHM under a force given by F = - (50x). If it crosses the center of oscillation with a speed of 10m/s , find the displacement of the particle at time t.


Q.9 > A block of mass 5 Kg executes SHM under the restoring force of a spring. The amplitude and time period are A and T respectively. Find the maximum force exerted by the spring on the block.


Q.10 > A particle suspended from a vertical spring oscillates 10 times per second. At the highest point of oscillation the spring becomes unstretched.






(a) Find the maximum speed of the block.

(b) Find the speed when the spring is stretched by 0.2 cm
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